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QUESTION 1

Where is the default data directory located after installing MySQL using RPM on Oracle Linux 7?
A. lusr/mysq|

B. /usr/bin

C. /etc/my.cnf

D. Ivar/lib/mysq|l

E. lusr

Correct Answer: D

QUESTION 2

Which statement is true about InnoDB persistent index statistics?

A. Updating index statistics is an 1/0 expensive operation.

B. Index statistics are calculated from pages buffered in the buffer pool for tables with InnoDB storage engine.

C. Setting innodb_stats_auto_recalc=ON causes statistics to be updated automatically when a new index is created.

D. Execution plans based on transient index statistics improve precision when innodb_stats_persistent_sample_pages
is increased.

E. Increasing innodb_stats_persistent_sample_pages determines higher pages scanning speed, at the cost of
increased memory usage.

Correct Answer: A

QUESTION 3

Which condition is true about the use of the hash join algorithm?

A. No index can be used for the join.

B. The query must access no more than two tables.

C. The smallest of the tables in the join must fit in memory as set by join_buffer_size.
D. At least one of the tables in the join must have a hash index.

Correct Answer: B

QUESTION 4
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Which two statements are true about the binary log encryption feature? (Choose two.)
A. It encrypts any connecting slaves connection thread.

B. It can be set at run time.

C. It requires a keyring plugin.

D. When enabled it encrypts existing binary logs.

E. It can be activated per session.

Correct Answer: AE

QUESTION 5

You are using mysqlcheck for server maintenance. Which two statements are true? (Choose two.)

A. The mysglcheck --check --all-databases command takes table write locks while performing a series of checks.

B. The mysqlcheck --optimize --all-databases command reclaims free space from table files.

C. The mysqlcheck --repair --all-databases command can repair an InnoDB corrupted table.

D. The mysglcheck command can be renamed mysqlrepair so that it repairs tables by default.

E. The mysqlcheck --analyze --all-databases command performs a series of checks to spot eventual table corruptions.

Correct Answer: DE
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